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2IALZb Y ool FolE thg 1t ol
AL uj, /BCD = 30° o|t}. o]uf, /BAC
o] 27])& oot

® 100° @ 110° (@)120°

@ 130° ® 140°

/BCD = /BCA =30°
/BCD = £/ABC = 30° (97})
/BAC =180°-60°=120°




Bu)
o
Ll
o
Mo
=
o)
Il
>
Q
ro
X,
N
N
9
ol
rE
>

i | =
Folty, = - B, C oA H A E A
A4 1o W 49 WS 247D, E
524t AB=10,DE =2 ¥ o, BD -
o] Zh2?
@2 @ 25 ® 3

N
~

|

Q
=

AABD = ACAE (RHA &%)0|B2
BD = AE, CE=AD
~BD-CE=AE-AD=2




o8 84 T el 472 ABC ¢ DBC = /A = /D = 90° ¢l
224 z+g ot} AB 9 &AM CD 9] dkAlo] dhvt= H2 E 2
5tal AB = CD, /ACB = 34° &4 o, /E ¢] 27]& Fstofet.

D
D
A C
B
> = g

AABC I} ADCB ©| A zA = /D = 90°,

BC &= 35HH, AB=CD °o|E2&

AABC = ADCB (RHS &%)

/ABC = 90° - 34° = 56°, /DBC = /ACB = 34°
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